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l.let 4 bean nxn matrix. Pleaseshow thatif Tr(447)=0,then A isazero matrix. (6%)
2.let u bean nx1 matrix suchthat u’u=1 andlet H=1, -2uu’. Pleaseshowthat H'=H". (6%)
3.Let L:P, — P, be defined by L{p(t)]= p" () + p(0). . ue

(a) Let T = {t’,t2 -1,¢1 } Showthat T isabasesfor P,. (7%)

(b) Show that L is alinear transformation. (7%)
(c) Compute the matrix of L with respectto T. (10%)
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0
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1 00
(a) Please orthogonally diagonalize 4. (10%)

(b) Findtherankof A andnullityof 4. (4%)

0
4. Suppose A=

S = O
o O =

(=]

= ~ Calculus

1Find [[ yx*drdy=7, where A={(x,y)|x*+y*<16,y20}. (8%)

2.Let f(x,y)=sin"(3x+2y), and x=r’¢', y=y=sin(rt). Find %—f—-=? (8 %)
r

1
e=(1+x)* _

3.Find lim,, ? (8%)

3
4. Find the arc length of the graph y = -)56—+2L on the interval [1, 2]. (8 %)
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5. Find the integral I x“i dx=7 (8%)
x

6. Find j:cos‘0d0=? (10 %)
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